
KAL mystère : Le Gobemouche
Mystery shawl KAL : The Fly swallower

by Nid de Vigogne 

Montez 12 mailles, aiguilles 4,5

Vous allez commencer votre châle par la bordure. 
Travaillez selon les instructions écrites ou le diagramme 1. 

Rang 1 : jeté, diminution à droite, 3 mailles endroit, diminution à droite, 1 maille endroit, jeté, 1 
maille endroit, jeté, diminution à gauche, jeté, 1 maille endroit. (13 mailles)
Rang 2 et tous les rangs pairs : tout à l'envers. (13 mailles)

Rang 3 : jeté, dim à droite, 2 m endroit, dim à droite, 1 m endroit, jeté, 3 m endroit, jeté, dim à 
gauche, jeté, 1 m endroit. (14 m)

Rang 5 : jeté, dim à droite, 1 m endroit, dim à droite, 1 m endroit, jeté, 5 m endroit, jeté, dim à 
gauche, jeté, 1 m endroit. (15 m)  

Rang 7 : jeté, dim à droite, 6 m endroit, dim à droite, 1 m endroit,  jeté, dim à droite, jeté, dim à 
droite.  (14 m) 

Diagramme 1

/ O / O / / O Rang 11 

/ O / O / / O Rang 9

/ O / O / / O Rang 7

O \ O O / / O Rang 5

O \ O O / / O Rang 3

O \ O O / / O Rang 1 

O jeté
\ diminution à gauche
/ diminution à droite

m endroit sur l'endroit, envers sur l'envers



Rang 9 : jeté, dim à droite, 5 m endroit, dim à droite, 1 m endroit,  jeté, dim à droite, jeté, dim à 
droite. (13 m) 

Rang 11 : jeté, dim à droite, 4 m endroit, dim à droite, 1 m endroit,  jeté, dim à droite, jeté, dim à 
droite. (12 m) 

nb : la dentelle aura donc un bord droit, à droite, et un bord en zigzag. Les jetés de débuts de rangs 
forment des « oeillets ».

Répétez ces 12 rangs 37 fois de plus. 
Répétez à nouveau les rangs 1 à 11, puis rabattez les mailles sur l'envers, en gardant le dernier 
oeillet sur les aiguilles.  
Tournez votre travail d'un quart de tour dans le sens des aiguilles d'une montre, puis repiquez et 
tricotez en maille envers les 233 autres œillets (234m). 
 



Tricotez 2 rangs de jersey, en glissant la première maille de chaque rang. Faites une augmentation 
sur le premier rang (235m)

Travaillez ensuite selon le diagramme ou les instructions écrites. Glissez la première maille du rang 
chaque fois que c'est possible.

Les double-diminutions sont travaillées de manière à faire passer la maille du milieu au dessus, c'est 
à dire : glissez 2 m ensemble à l'endroit, 1 m end, passez les mailles glissées par-dessus la maille 
tricotée 

Répétez la partie encadrée 38 fois au total.

Rang 1 : 1 m endroit, jeté, 1 m endroit, [ 1 double dim, 1 m endroit, jeté, 1 m endroit, jeté, 
1 m endroit], répétez de [ à ] 37 fois de plus, 1 double dim, 1 m endroit, jeté, 1 m endroit. 
Rang 2 et tous les rangs pairs : tout à l'envers

Rang 3 : 2 m endroit, jeté [ 1 double dim, jeté, 3 m endroit, jeté], répétez de [ à ] 37 fois de plus, 1 
double dim, jeté, 2 m endroit.
Rang 5 : Dim à droite, 1 m endroit, jeté, 1 m endroit, jeté, [1 m endroit, 1 double dim, 1 m endroit, 
jeté, 1 m endroit, jeté] répétez de [à ] 37 fois de plus, 1 m endroit, dim à gauche.

Rang 7 : dim à droite, jeté, 3 m endroit, [jeté, double dim, jeté, 3 m endroit] répétez de [ à ] 37 fois 
de plus, jeté, dim à gauche.

Répétez ces 8 rangs encore 3 fois. 

Diagramme 2

\ O O Λ O O / Rang 7

\ O O Λ O O / Rang 5

O Λ O O Λ O Rang 3

O Λ O O Λ O Rang 1

m endroit sur l'endroit, m envers sur l'envers
O jeté
\ diminution à gauche
/ diminution à droite
Λ double diminution



Diminuez les mailles de moitié, en procédant comme suit : 
Rang 1 : 2 m ens à l'endroit, répétez jusqu'aux trois dernières mailles, tricotez ces 3 mailles ens à 
l'endroit (117m).
Rang 2 : tout à l'envers.

Travaillez maintenant selon les instructions écrites ou le diagramme 3, en glissant toujours la 
première maille du rang. 

Rang 1 : 1 m end, [1m étoile, 1 m end], répétez de [ à ]. 
Rang 2 : tout à l'envers
Rang 3 : tout à l'endroit
Rang 4 : tout à l'envers
Rang 5 : 3 m end, [1 m étoile, 1 m end], répétez de [ à ], 2m end
Rang 6 : tout à l'envers
Rang 7 : tout à l'endroit
Rang 8 : tout à l'envers

maille étoile = piquez 3 mailles ensemble à l'endroit, tricotez en laissant les mailles sur l'aiguille 
gauche, jeté, tricotez à nouveau les 3 mailles ensemble, glissez les mailles sur l'aiguille droite. 

Répétez la partie encadrée.

Tricotez les rangs 1 à 8,  3 fois au total, puis tricotez les rangs 1 à 4 une fois.

 

Diagramme 3

Rang 7

Ӂ Rang 5

Rang 3 

Ӂ Ӂ Rang 1

Ӂ

 jeté, tricotez à nouveau les mailles, les glisser sur l'aiguille droite. 

m endroit sur l'endroit, m envers sur l'envers

m étoile : tricotez 3 mailles ensemble à l'endroit sans glisser les mailles de l'aiguille gauche,



Diminuez à nouveau le nombre de mailles de moitié, en procédant comme suit : 
Rang 1 : 3 m ens à l'end, [3m ens à l'endroit, 1 m end], répétez de [ à ], 3 m ens à l'endroit, 3 m ens 
à l'endroit. (57m)
Rang 2 : tout à l'envers.

Tricotez en jersey sur 16 rangs, en plaçant 8 fois, de manière aléatoire, des points étoilés. 

Vous pourrez placer votre libellule dans cette section, par exemple...
Voici le lien du tutoriel pour la signature/libellule : 
http://nid-de-vigogne.blogspot.fr/2013/05/indice-4-on-se-fait-des-noeuds.html

Diminuez le nombre de mailles de moitié, en procédant comme suit : 
Rang 1 : [1m end, 3 m ens à l'endroit,] répétez de [ à ], 1m end. (29m).
Rang 2 : tout à l'envers. 

Tricotez 8 rangs en jersey, puis répétez le rang de diminutions à l'identique.(15m)
4 rangs plus haut, travaillez les mailles ensemble par trois sur tout le rang (5m)
Coupez le fil, et passez le à l'aide d'une aiguille dans les 5 mailles restantes. 

Mouillez le châle, et bloquez la dentelle à l'aide de punaises. 



ENGLISH 

 

Cast on 12 stitches with size 4,5 mm 

The knitting of the shawl begins by the knitting of the lace border. 

Work from written instructions or the chart #1. 

 

 

Row 1 (RS) :  yo, k2tog, k3, k2tog, k1, yo, k1, yo, ssk, yo, k1 (13 sts total)

Row 2 and subsequent WS rows on this chart (WS) : purl back  

Row 3 : yo, k2tog, k2, k2tog, k1, yo, k3, yo, ssk, yo, k1 (14 sts)

Row 5 : yo, k2tog, k1, k2tog, k1, yo, k5, yo, ssk, yo, k1 (15 sts)   

Row 7 : yo, k2tog, k6, k2tog, k1, yo, k2tog, yo, k2tog  (14 sts) 

Row 9 : yo, k2tog, k5, k2tog, k1, yo, k2tog, yo, k2tog  (13 sts) 

Row 11 : yo, k2tog, k4, k2tog, k1, yo, k2tog, yo, k2tog (12 sts) 

nb : the lace border will have one straigt edge on the right hand side and a zig-zag edge on the left. 
The right side will be edged with 'eyelets' from the yo at the start of the right side rows.  

 

Repeat these 12 rows 37 times more (total of 38 repeats).

Repeat again the rows 1 to 11, then bind off all but last stitch on the row 12 – purl that stitch (this 
way you keep the last 'eyelet' on your needles). 

Turn your work 90 degrees to the right, then pick up and purl the 233 other 'eyelets' (234 stitches). 

 

/ O / O / / O Row 11

/ O / O / / O Row 9

/ O / O / / O Row 7

O \ O O / / O Row 5

O \ O O / / O Row 3

O \ O O / / O Row 1 

symbols key

O yarn over
\ slip slip knit2 slipped st together
/ Knit 2 together

knit on RS, purl on WS



Work 2 rows of stockinette stitch (starting at the RS), making a m1 increase on the first row. (235 
sts) 

Slip the first stitch of each row. 

Then begin working from the chart number 2 or written instructions. 

 The outlined part will repeat itself 38 times total over the length of the row. 

Double decrease are worked this way : slip 2 stitches together, k1, pass slipped stitches over.  

Row 1 (RS) : k1, yo, k1, [ 1 double dec, k1, yo, k1, yo, k1], repeat from [ to ] a total of 38 times, 1 
double dec, k1, yo, k1.  

Row 2 and all subsequent even rows for this chart (WS) : purl back

Row 3 : k2, yo, [1 double dec, yo, k3, yo], repeat from [ to ] 38 times, 1 double dec, yo, k2. 

 

Row 5 : k2tog, k1, yo, k1, yo, [k1, 1 double dec, k1, yo, k1, yo], repeat from [ to ] 38 times, k1, ssk.

 

Row 7 : k2tog, yo, k3, [yo, double dec, yo, k3] repeat from [ to ] 38 times, yo, ssk. 

 

Repeat these 8 rows 3 more times (4 total repeats).  

Chart #2

\ O O Λ O O / Row 7

\ O O Λ O O / Row 5

O Λ O O Λ O Raw 3

O Λ O O Λ O Raw 1 

knit on RS, purl on WS
O yarn over
\ slip slip knit 2 slipped stitches together
/ knit 2 together
Λ sslip 2 togehter, k1, pass slipped stitches over



 Decrease to half the number of stitches : 

Row 1 : k2tog until the last 3 stitches, then k3tog. (117 sts).

Row 2 : purl back

 

Work from written instructions or chart number 3, slipping first stitch of each row.  

Row 1 (RS) :  k1, [star stitch, k1], repeat from [ to ] until the end of the row.  

Row 2 and all subsequent even rows on this chart (WS) : purl back 

Row 3 : knit

Row 5 : k3, [star stitch, k1], repeat until 2 stitches left on needle, k2. 

Row 7 : knit

star stitch : k3tog but keep the three stitches you knit into on the left hand needle, yarn over, and 
knit again into the 3 stitches, this time dropping them from the left hand needle. 

 

The outlined part will repeat itself.

 

Work rows 1 to 8 three times total, then work rows 1 to 4 once. 

 

Chart # 3

Row 7

Ӂ Row 5

Row 3

Ӂ Ӂ Row 1

symbols key

Ӂ

yarn over, and knit again into the 3 stitches, this time dropping them from the left hand needle.

k on RS, p on WS

star stitch  : k3tog but keep the three stitches you knit into on the left hand needle,  



Decrease half the stitches in the following manner :  

Row 1 (RS) : k3tog, [k3tog, k1], repeat from [ to ] until 6 stitches remain, k3tog, k3tog. (57 sts)

Row 2 (WS) : purl back. 

 

Work stockinette stitch for 16 rows, placing 8 star stitches in a random manner.

Here you can knit, or sew, that certain French 'je ne sais quoi' signature !

You can find a DIY here :
 http://nid-de-vigogne.blogspot.fr/2013/05/indice-4-on-se-fait-des-noeuds.html

 

Decrease again half the stitches : 

Row 1 (RS) : [k1, k3tog], repeat from [ to ], k1. (29 sts).

Row 2(WS) : purl back.  

 

Work 8 rows of stockinette stitch, then repeat the two previous decrease rows (right side and wrong 
side)  (15 stitches remain). 

 

Work 4 rows of stockinette stitch, then on the next RS row, k2tog the whole row. (5 sts)

Break yarn and, using a needle, pass through the 5 remaining stitches, gather, and secure by 
weaving in. 

 

Weave in ends, block. And enjoy ! 

 


